
Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Crossword

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young
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Bridge

   Famous Hand
This extraordinary deal was played in

the match between Poland and Iceland in
the 1963 European Championship.

When the Polish team held the North-
South cards, the bidding went as shown.
Obviously, something went drastically
wrong with the bidding, since the Poles
got to a slam with two club losers plus the
possibility of losing one or two trump
tricks.

But the sun shone brightly on the South
Pole that day, and he made the slam any-
way! West led the jack of hearts, and a few
moments later, South had 12 tricks safely
tucked away.

He won the heart lead with the ace,
ruffed a heart and cashed the A-K-Q of
diamonds, discarding the J-6 of clubs. He
then ruffed a club, a heart, a club and his
last heart.

  By this time, nine tricks had been
played, and South had won them all. The
lead was in dummy, and South’s last four
cards were the A-K-J-8 of spades, while
West was down to the Q-10-9-7 of spades.

Declarer led a club from dummy and
ruffed with the eight. West overruffed
with the nine but had to surrender the last
three tricks!

Strangely enough, even four spades
could have been stopped had West been
sufficiently inspired to start off with the
king and another club. A club continua-
tion by East would then have settled
South’s hash.

The Poles finished third that year out of
the 18 countries entered in the event. Had
they had a few more hands like this one,
they might even have won the European
Championship.

Family Circus • Bil Keane
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


